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1. Solve the initial value problem

700
(20%) y' +2y" + Sy = 1.25¢%5% + 40 cos 4x — 55 sin 4x, y0) =02, y'(0) = 60.1.

2_ Find the Laplace transform of the function

(20%)
2 fo<i< g
fly=40 ifr<i<2y
sin t if t> 2,

3. Find the Fourier series of the function
(209/0) 0 when —-2<r< —1
S ={k when ~l1 <t | T =4
0 when < 2

4.  Evaluate the following'integral counterclockwise around any simple closed path such that (a) 0 and | are inside
C, (b) 0 is inside, 1 outside, (c) | is inside, 0 outside, (d) 0 and | are outside.

(20%) § 4 -3z

CZZ—Z

dz

5.  Show that

(20%)

* sin x
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